(ﬁ) A { ﬁ Negativa exponenter pa 10

hammn: Datum: Poing:
1079 = 1003 =
10°" = 564,3+ 107 =
—3x10% = 709,2 x 10D =
873 x 10 = 3% 10% =
1071 = 1002 =
1079 = 595 x 1002 =
1071 = 1003 =
8107 = 3% 107 =
851,1 x 10°% = 100D =
4x 107 = 1009 =
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(Q) A ( ﬁ Negativa exponenter pa 10

namn: Datum: Poing:
107 = 0.0001 107 = 0.001
1077 =0.1 564,3 + 107 = 564300
—3 % 10% = —300 709,2 x 100" =70.92
873 x 107 = 0.873 3 x 10% = 300
1079 = 0.1 1072 = 0.01
107 = 0.0001 595 x 107% = 5.95
1077 = 0.1 107 = 0.001
8 x 100 = 0.008 3 x 10 = 300
851,1 = 107 = 0.08511 1077 =0.1
4 x 107 = 0.004 107 = 0.0001
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